SFocE 6 A1 HBE (o A0 HRADR)
K04 T | IR [ (A) | IR A (B) | HEJ | EF(A+B) | 3
STy 2, 300 6 2,775 7 2, 764 2 5,539 9
BT — T H 966 1 921 -2 847 4 1,768 2
M4BT — T H 554 0 583 -2 578 1 1,161 -1
AP =T H 612 3 709 3 665 4 1,374 7
JEIFTHTIY T H 420 0 458 -2 492 -2 950 —4
HPTHT T H 297 ~1 321 -2 304 ) 625 —4
HPTHTS T H 278 1 369 1 371 0 740 -1
B ai) 197 -1 213 -1 221 -1 434 )
BA 367 1 467 2 475 0 942 2
TErH 1,743 0 1, 955 1 1,951 -3 3, 906 )
B 316 3 339 2 321 1 660 3
Hh T H 833 -2 914 ) 903 2 1,817 0
T — T H 269 2 368 1 404 1 772 2
Gl — T H 309 1 438 1 447 4 885 5
HHT=TH 471 -1 678 -2 687 -1 1, 365 -3
U T H 261 1 398 1 379 2 777 3
A 229 0 271 -1 260 1 531 0
W] = 290 -1 358 -1 343 —4 701 -5
— K 439 0 461 -2 489 0 950 -2
— Y ARHI — T H 0 0 0 0 0 0 0 0
Y ARHH T H 28 0 42 0 37 0 79 0
M= H] 104 1 134 0 123 2 257 2
= KT H 4 0 5 0 7 0 12 0
NH 4 613 5 815 5 817 6 1,632 11
S 4,227 ) 4, 828 -13 4, 947 -7 9, 775 -20
IR 4, 347 9 4,510 14 4, 540 2 9, 050 16
A 1,277 4 1,451 —/ 1,493 2 2,944 -2
=+ H 6 0 8 0 8 0 16 0
s tHR—TH 855 —/4 807 -1 952 -4 1, 759 -5
ELtHR TH 1,033 6 1,079 5 1,136 -2 2,215 3
HE+tH=TH 839 -3 829 0 850 —/ 1,679 —4
LRI TH 667 2 694 1 719 0 1,413 1
B tRATH 674 5 797 2 714 3 1,511 5
=EL+HH/NTH 0 0 0 0 0 0 0 0
4 1,729 -3 1,831 -9 1,813 2 3, 644 -7
oy —T H 267 5 306 5 284 3 590 8
war T H 225 0 255 1 237 1 492 2
Wy ="TH 417 2 447 -3 465 2 912 -1
o U H 672 8 711 6 739 7 1, 450 13
i e T H 378 3 448 4 474 1 922 5
T — T B 255 0 293 -2 339 -2 632 -4
FAET — T H 549 -1 593 -3 671 -1 1,264 —4
IR =T H 192 -1 213 0 271 -1 484 -1
it 30, 509 49 34, 092 8 34, 537 19 68, 629 27
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